CELEBRATE AUSTRALIA'S WONDERS



Proudly supporting Eco Barge Clean Seas Inc.



















PAC Trading are proudly supporting Eco Barge Clean Seas Inc. and the fantastic work they do removing marine debris from the Whitsunday Region and caring for sick or injured turtles.









Responsible

















ART SERIES COFFEE CUPS



Our new range of Art Series coffee cups are paper based cups made from FSC certified paper sources and manufactured with a water based, Aqueous-coating. The cups are certified Home Compostable to Australian Standards (AS5810).

Available in Single Wall and Double Wall and a range of sizes, we encourage pairing with our Sugarcane Bagasse lids.

Single Wall and Double Wall cups. 8 oz (80mm), 8 oz (90mm), 12 oz, 16 oz

- Home Compostable
- · Aqueous Coated
- FSC certified
- No added PFAS

A percentage of sales from these cups is going to support a great cause. Eco-Barge Clean Seas Inc who protect the marine life and aquatic environment of the Whitsunday region by taking litter out of the environment and caring for sick and injured turtles.

Each cup includes a QR code to find out more.











NAME	SIZE,mm	PCS/BAG	BAGS/CTN	PCS/CTN
8oz Aqueous Coated Single Wall Cup/Art Series	80x56x92	50	20	1000
8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All	90x54x86	50	20	1000
12oz Aqueous Coated Single Wall Cup/Art Series	90x58x111	50	20	1000
16oz Aqueous Coated Single Wall Cup/Art Series	90x60x137	50	20	1000
8oz Aqueous Coated Double Wall Cup/Art Series	80x56x92	25	20	500
8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All	90x54x85	25	20	500
12oz Aqueous Coated Double Wall Cup/Art Series	90x58x110	25	20	500
16oz Aqueous Coated Double Wall Cup/Art Series	90x60x136	25	20	500
	8oz Aqueous Coated Single Wall Cup/Art Series 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 12oz Aqueous Coated Single Wall Cup/Art Series 16oz Aqueous Coated Single Wall Cup/Art Series 8oz Aqueous Coated Double Wall Cup/Art Series 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 12oz Aqueous Coated Double Wall Cup/Art Series	8oz Aqueous Coated Single Wall Cup/Art Series 80x56x92 8oz Aqueous Coated Single Wall Cup / Art Series One-Lid-Fits-All 90x54x86 12oz Aqueous Coated Single Wall Cup/Art Series 90x58x111 16oz Aqueous Coated Single Wall Cup/Art Series 90x60x137 8oz Aqueous Coated Double Wall Cup/Art Series 80x56x92 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 90x54x85 12oz Aqueous Coated Double Wall Cup/Art Series 90x58x110	8oz Aqueous Coated Single Wall Cup/Art Series 80x56x92 50 8oz Aqueous Coated Single Wall Cup / Art Series One-Lid-Fits-All 90x54x86 50 12oz Aqueous Coated Single Wall Cup/Art Series 90x58x11 50 16oz Aqueous Coated Single Wall Cup/Art Series 90x60x137 50 8oz Aqueous Coated Double Wall Cup/Art Series 80x56x92 25 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 90x54x85 25 12oz Aqueous Coated Double Wall Cup/Art Series 90x58x110 25	8oz Aqueous Coated Single Wall Cup/Art Series 80x56x92 50 20 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 90x54x86 50 20 12oz Aqueous Coated Single Wall Cup/Art Series 90x58x111 50 20 16oz Aqueous Coated Single Wall Cup/Art Series 90x60x137 50 20 8oz Aqueous Coated Double Wall Cup/Art Series 80x56x92 25 20 8oz Aqueous Coated Single Wall Cup/Art Series One-Lid-Fits-All 90x54x85 25 20 12oz Aqueous Coated Double Wall Cup/Art Series 90x58x110 25 20



